Test Paper |
Test Subject LAW
Test Subject Code : K-1813

Test Booklet Serial No. :
OMR Sheet No. :

Roll No.

(Figures as per admission card)

Name & Signature of Invigilator/s

Signature:
Name

Paper
Subject
Time : 1 Hour 15 Minutes

Signature:

Name

|
LAW
Maximum Marks : 100

Number of Pages in this Booklet : 16

Number of Questions in this Booklet : 50

eI HFRER RN
1. BT Be00HY wWwBNT :g}zﬁc’fgq Qe Beeer® Rﬁowd@tud’c@o&
2. B BYIeI0 v 03, DFT 0= @%ﬁef@t LERRORT.
3. oo TR, @’%@éﬁeﬁd& ARRATRNPYD. BRBO5 QTS
ey a’g)géofoazt BB0e0 32 FINF0E BN TOCETO FRTTONG,
(i) a’jzg RRBN THeT0593 BEODE, T3 BROT RFEIT 02T e
TeTO® RO, BOCKO. RET* JeeF QB BIWYE R 80RIe. SOT
a’e@émag %eﬁbﬂzﬁe@.
R2E0OR TR Tosd ) Frane Koad 0, ToDPWR e
BB AT SR e00M To¢ R0, Frinsd/ DI ForedRT,
BT &53 ST WRTTTNVT BT BT 03P FE3
TReTFROB FRFT, 3ABE5 VTR =R Wk, T30 IO
BTT PRI WTTRRTRY WD, B WeT FF T T,
WRTONITMZYAW, cdezyTie a%zs% RDORRA, BREHZOW,

4. Zec3roDTIRA(A), (B), (C) R2(D) 20w Hch3as me Fednrad
VIOV, ez géoda 2T FOCINT YUZTT F0eeS, T ToBITS

£20TBR00RY, TTNRLIERD.

VTR TE: q@w ‘ @

(C) BoCINT BTN

5. =B B3 | 99, geutcs OMR 9080 mdodd) , B3, =38 | o=y
@s’;ﬁ%%ll 89, @ gs:ﬂ@r? z\m@ wgdwqmwwsp& OMR ivcte)
TFCDY @om%éojae_qu 23e0 can)Te zs;ﬁidq emgo’ddl THTI8TT,
200 FRYFNTT SRERMRO,

6. OMR ©ug0 mvond, 8rt, RABESMVR), tndRgEN0s too.

7. SR 30@ FORTTY, BRI SRFODS BREI]. .

8. Ay MTOTRY, WHTONTRBWTOWT Ay THTO WFwe CINT)Te
WBOI, RonSemss z};f Tp02 Ter, OMR vzt mded cdnmce
WNTY, WITTT, Deey WSHFST PP THNTIG 0.

9. Toegeho FONTI0IT, smeHn OMR €ug0 meosR) RoRedgort
Qe LodTONREIER gy Toem, EoBaH Zecrk OMR =, asigeor
SRotiRc BRER.

BoeEed> Bo3T, Boews, WY BT, =0y Fsew OMR 683 Favod),
RRREOT SRCEROT T ENWBITD.

11. 2O /37) tReFmots Ia® SR[e toTednend.

12. nﬂooédcésc@ SFT TN 50T BT/ROD Wﬁo&mﬂdé& JFeRRTINT.
13. 50 wuE YUITRER 93080 WoF VDAY .

(ii)

10.

Instructions for the Candidates
1. Write your roll number in the space provided on the top of this page.
2. This paper consists of fifty multiple-choice type of questions.
3. Atthe commencement of examination, the question booklet will
be given to you. In the first 5 minutes, you are requested to
open the booklet and compulsorily examine it as below :

(i) To have access to the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open booklet.
Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the Question
Booklet will be replaced nor any extra time will be given.

(ii)

4. Each item has four alternative responses marked (A), (B), (C)
and (D). You have to darken the oval as indicated below on the
correct response against each item.

® 6 @O0

where (C) is the correct response.

Example :

5. Your responses to the questionsare to be indicated in the OMR
Sheet kept inside the Paper | Booklet only. If you mark at any
place other than in the ovals in the Answer Sheet, it will not be
evaluated.

6. Read the instructions given in OMR carefully.

7. Rough Work is to be done in the end of this booklet.

8. If you write your name or put any mark on any part of the OMR
Answer Sheet, except for the space allotted for the relevant
entries, which may disclose your identity, you will render yourself
liable to disqualification.

9. You have to return the test OMR Answer Sheet to the invigilators

at the end of the examination compulsorily and must NOT

carry it with you outside the Examination Hall.

You can take away question booklet and carbon copy of OMR

Answer Sheet soon after the examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table etc., is prohibited.

There is no negative marks for incorrect answers.
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LAW
Paper - I

Note : This paper contains fifty (50) objective type questions. Each question carries

two (2) marks. All questions are compulsory.

1. Which Article of our Constitution
provides for the establishment of Inter-
State Council for co-ordination between
states ?

(A) Article 260

(B) Article 262

(C) Article 263

(D) Article 261

2. According to the preamble the source
of the Indian Constitution is
(A) People
(B) Parliament
(C) Constitutions of other countries
(D) BothBand C

3. Emergency provisions of the
Constitution of India are borrowed from

(B) U.S.A.

(D) U.K.

(A) Germany
(C) U.S.S.R.
4. Which Article denotes the State shall not
discriminate against any citizen on the

grounds only of religion, race, caste,
sex, place of birth or any of them ?

(A) Article 14
(B) Article 15
(C) Article 16
(D) Article 17

K-1813
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5. Match List — | with List — Il and select
the correct answer by using the code

given below :
List -1

(a) Maneka Gandhi
Union of India

(b) Ramesh
Thopper V.
State of Madras

(c) Kesavananda
Bharathi V.
State of Kerala

(d) Golaknath V.
State of Punjab

Codes
a
(A) @
(B) (if) (
(C) (iii) (
(D) (iv)

6. Which Article of th

List —1I
V.(i) Freedom of
Speech and
Expression
(ii) Basic features
of the
Constitution

(iii) Right to Travel
Abroad

(iv) Prospective
over-ruling

(v) Double
Jeopardy

e Constitution deals

with free legal aid to poor, illiterate and

indigent persons ?

(A) Article 37
(C) Article 39

7. Which writ can be

(B) Article 38
(D) Article 39A

issued by a High

Court as a correctional directive to

subordinate courts
(A) Mandamus
(C) Quo-Warranto

v StudentBounty.com
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(B) Prohibition

(D) Certiorari
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8. Match List — | with List — Il and select
the correct answer by using the code
given below the lists :

List—1 List-1I

(@) Jurisprudence () H.L. A. Hart
is lawyers’
extra Version

(b) Source of Law (ii) Kelson

is Volkgeist

(c) Law is a union
of primary and
secondary rules
(d) Legal system is
a pyramidal
structure of norms

(iii) Julius Stone

(iv) Savigny

Codes:
a b C d
(A) (if) @ (v) (i)
(B) (iv) (i) @ (i)
(C) (i) (iv) @ (i)
(D) (iif) @ (v) (i)

9. Which of the following jurists has
explained rights and duties in terms of
jural co-relations and jural opposite ?

(A) Hohfield (B) Holland
(C) Holmes (D) Roscoe Pound

10. Ratio decidendi of a case means,

(A) Final order of the court

(B) The judgement delivered by the court

(C) Underlying principle or legal
reasons on which the result of the
case depends

(D) That part of the judgement which
has persuasive effect

K-1813

11. "Law is a body of knowledge and
experience with the aid of which a
large part of social engineering is
carried on" is the observation of
(A) Duguit (B) Ihering
(C) Roscoe Pound (D) Prof. Grey

12. Examine the two statements given
below and select answers from the
answer code:

Assertion (A) : In respect legal duty,
sanction is essential for its

non- performance.

Reason (R) : Presence of sanction is
the test of legal duty.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not correct explanation of (A)

(C) (A)istrue, but (R) is false
(D) (A) is false, but (R) is true

13. Match List — | with List — Il and select
correct answers by using the code given

below :
List-1 List-1I
a) American (i) Law as the
Realists command of
Sovereign
b) Hart’s theory (ii) Law as a
of law dictate of reason
c) Imperative (iii) Law as a union of
law primary and
secondary rules
d) Natural (iv) Rules related
law judicial behaviour
Codes :
a b c d
(A) M G (i) (i)
(B) (iv) (i) @M (i)
(C) (iv) @i (i) (i)
(D) i) (i) i) (v)
Paper Il
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14. Who is considered as the Father of
International Law ?

(A)
(B)
(C)
(D)

D) Jermy Bentham

Grotious
Gentilis

Austin

15. What should be the order of use of

material source of International Law ?
1) Treaties and Conventions
2) Customs

3) General principles of law
recognised by civilised states

4) Judicial decisions and juristic

opinion
Codes :
(A) 4 3 2 1
(B) 1 4 2 3
() 1 2 3 4
(D) 4 2 1 3

16. Jus-Cogens means

(A) Peremptory norms of general
International Law from which no
derogation is permissible

(B) Rules of ancient customary
International Law which are
rendered redundant in modern
times

(C) Abrogation of a rule in a treaty by
subsequent treaty

(D) Rule developed from a bilateral
treaty which has found universal

K-1813
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18.

19.

below and select answers from the
answer code.

Assertion (A) : Supporters of realistic
theories argue that real importance of
international law lies in the validity of
its claim to be law.

Reason (R) : To justify existence of
International Law influence of
international politics is essential.
Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not correct explanation of (A)

(C) (A)istrue but, (R) is false
(D) (A) is false but, (R) is true

Sapinda relationship has been defined
under

(A) Section 3(b) of Hindu Marriage Act,
1955

(B) Section 3(d) of Hindu Marriage Act,
1955

(C) Section 3(f) of Hindu Marriage Act,
1955

(D) Section 3(g) of Hindu Marriage Act,
1955

Section 13 (d) of Marriage Laws

(Amendment) Bill, 2013 provides for

(A) Wife’s right to oppose the divorce
petition on the ground of hardship

(B) Wife’s right to claim compensation
for domestic violence

(C) Wife’s right to matrimonial property
(D) Both (B) and (C)

Paper Il
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20. Which school is known after the great
jurist Abu Hanifa under the
Mohammedan Law ?

(A) Shafei school

(B) Shin school

(C) Hanafi school

(D) Shia school

Match List — | with List — Il and select

correct answers by using the codes
given below :

List -1

21,

List —1I
1) 1956
2) 1955

a) Hindu Marriage Act
b) Hindu Adoption and
Maintenance Act
c¢) Child Marriage

Restraint Act

3) 1929

d) Indian Divorce Act 4) 1869

Codes:

>
(S N
_LQ)[\)_LO-
WNWNO
Ao prwS

(
(
(
(

Sozm=

22. After divorce, a Muslim woman

(A) Cannot remarry
(B) Can remarry immediately

(C) Can marry only after completion of
Iddat period

(D) Can marry after one year

23. Which Section of Hindu Marriage Act,

1955 provides the remedy of restitution
of conjugal rights ?

(A) Section 5 (B) Section 9

(C) Section 11 (D) Section 13

K-1813
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24,

25.

26.

27.

Which of the following statement is
correct ?

1) Counter offer puts an end to the
original offer.

2) In counter offer previous offer can be
revised.

3) Acceptance must be absolute and
unqualified.

4) Acceptance with new terms is valid.
Codes :
(A) 1 only
(C) 2and 3

(B) 1and 3
(D) 3and 4

Privity of contract is

(A) Stranger to the consideration
cannot sue

(B) Stranger to the consideration
can sue

(C) Stranger to the contract cannot
sue

(D) Stranger to the contract can sue

Frustration of a contract means

(A) Impossibility to perform a contract
(B) Possibility to perform a contract
(C) Breach of contract

(D) Performance of contract

A contract entered into out of coercion,
undue influence, fraud,

mis-representation is said to be
(A) Voidable contract

(B) Void contract
(C) llegal contract
(D)

D) Un-enforceable contract

Paper Il
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28. Match List — | with List — Il and select
the correct answers by using the code

given below :
List- | List -1l
a) Minors’ (i) Cundy V. Lindsay
agreement
b) Measure (i) Carlil V. Carbolic
of damages Smoke Ball Co.
c) Mistaken (iii) Hadly V.
Identity Baxendale
d) General (iv) Mohari Bibee V.
Offer Dharmadas
Ghose
Codes :
a b c d
(A) @M G (i) (iv)
(B) (ii) @i (v) (i)
(C) (iv) (i) @M (i
(D) (i) (i) i) (v)

29. Examine the two statements given
below and select answers from the
answer code.

Assertion (A) : A minor, when starving,

is supplied with necessaries worth

Rs. 5,000, by a seller. Minor promises

to repay. After minor earned money in a

lottery, seller desires to recovery. Seller

cannot succeed.

Reason (R) : Minor is not competent to

contract. He cannot promise to repay.

Codes:

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not correct explanation of (A)

(C) (A)istrue, but (R) is false

(D) (A) is false, but (R) is true

K-1813
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30.

31.

32.

33.

34.

35.

Common law remedy for breac
contract is

(A) Injunction

(B) Specific performance of contract
(C) Damages

(D) Rectification of instruments
Action in Tort Law arises when there is
breach of

(A) Jusinrem

(B) Jus in personam

(C) Contractual rights

(D) Constitutional rights

Tort of nuisance consists in discomfort
and annoyance

(A) Inthe use of any property

(B) In the use of movable property

(C) In the use of land and building

(D) Inthe use of any intangible property

The case of Rylands V. Fletcher lays
down the principle of

(A) Absolute liability

(B) Contractual liability

(C) Strict liability

(D) Fault liability

Which of the following is not a valid
defence in tort ?

(A) Volenti non fit injuria

(B) Vis major

(C) Scienti non-fit injuria

(D) Consent

To constitute law of vicarious liability,
the elements required are

(A) Master and independent contractor
relations

(B) Master and servant relations having
fiduciary nature

(C) Servant doing an act in the course
of employment

(D) Wrong act and damages
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36. Examine the two statements given
below and select answers from the
answer code.

Assertion (A) : If a person speaks ill of
the business which X’ is doing, it
amounts to defamation.

Reason (R) : Slander is actionable

per se.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation to (A)

(B) Both (A) and (R) are true, but (R) is
not correct explanation to (A)

(C) (A)istrue, but (R) is false

(D) (A) is false, but (R) is true

37. Match List — | with List — Il and select
the correct answers by using the code
given below the lists :

List—1
a) Vis Major

List-1I
(i) Letthe superior
be responsible

b) Novus actus (i) Actof God

interveniens
c) Respondent (iii) Harm suffered
Superior with knowledge

d) Volenti non fit (iv) Intervention of

injuria a third factor
(v) Harm suffered

with consent

Codes
a b c d
(A) M ) (i) (iv)
(B) (i) (iv) OR(Y))
(C) (iv) (i) @M (i
( . i) : iv)

38. Which of the following is true ?
(A) Inall robbery there is both theft and
extortion
(B) In all robbery there is either theft or
extortion
(C) Inall robbery there is extortion alone
(D) In all robbery there is theft alone

K-1813

39.

40.

41.

42.

Which of the following statement is

correct ?

(A) Abetment can be committed by
mere silence.

(B) Anabettoris liable for abetment even
if the abetted act is not committed.

(C) If abetted person is not liable for
committing the abetted act, the
abettor too cannot be held liable.

(D) An abettor is liable for all the likely
consequences of his abetment.

Which of the following is not a public

servant within the meaning of Section

21 ofthe I.LP.C. ?

(A) Municipal Commissioner

(B) Member of the Parliament

(C) M.LA.

(D) Examiner of the University

Cruelty to a woman by husband or
relative of husband is defined under
(A) Section 498-A of I.P.C.

(B) Section 498 of I.P.C.

(C) Section 497 of I.P.C.

(D) Section 496 of I.P.C.

Match List — | with List — Il and select
the correct answer by using the codes

given below.
List—1 List —1I
a) Mens rea (i) Always not
necessary
b) Abetment (i) No offence in
itself
c¢) Planning to (iiif) Strict criminal
commit a theft liability
d) An unlawful (iv) Instigating a
act without person to
Criminal intention ~ commitan
offence
Codes :
a b c d
(A) i (v (i) (i)
(B) (iiy (i) (i) (i
(C) @i Gv) (i) (i)
(D) (iiy (i) i) (v)
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43.

44,

45.

46.

‘An eye for an eye and tooth for a tooth’
principle is embodied in

(A) Retributive theory

(B) Preventive theory

(C) Deterrenttheory

(D) Reformative theory

‘Last come first go’ rule is applicable in
the case of

(A) Closure

(B)
(C)
(D)

Lockout

Transfer of undertaking
Retrenchment

To be an office bearer of Trade Union,
a person must attain the age of

(A) 18 years

(B) 16 years
(C) 15 years
(D) 21 years

When the lockout is not illegal ?

(A) If it is declared in contravention of
Sec. 22 of I.D. Act.

(B) Ifitis declared without issuing notice
when strike is already declared

(C) When lockout is banned by the
appropriate Government

(D) Both B) and C)

48.

49.

50.

the correct answer by using the cod

given below :
List—1 List-1I
a) Sec.2(f) of (i) Lockout
[.D. Act, 1947
b) Sec.2(g) of (ii) Court
[.D. Act, 1947
c) Sec.2(l) of (i) Workmen
[.D. Act, 1947
d) Sec.2(s) of (iv) Employer
[.D. Act, 1947
Codes:
a b c d
(A) (iv) (i) (i) (i)
(B) i @) (i) (i)
EC) (iv) (i) (ii) (i)

(iii)

When an individual dispute becomes

industrial dispute ?

(A) When it is taken up by Union only

(B) Union of substantial number of
workmen

(C) Continuous support of union

(D) Subsequent support of union

The registration of the Trade Union can
be cancelled without issuing notice

(A) An application of Trade Union
requesting for cancellation

(B) Trade Union has ceased to exist

(C) If registration has been obtained by
fraud or mistake

(D) BothBand C

Lay Off means

(A) Removing a workman

(B) Retirement of a workman

(C) Dismissing a workman

(D) Inability of employer to provide work
to a workman
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